FE5KX 2019—2020 ZEF —FHARKRLES

VB RERSEER
—., EEB (K&t 16 5, BADE 245
a5 1 2 3 4 5 6 7 8
S C B A B D B

—. HEZE (K164, F/E 245

9. 1 10. (3,4)

13. 9 14. 8a+16 15. 2

1. m(m+2)(m—2) 12.

50°8% 65°

16. 6 ; 128

=, REE (KL 684y, F 172088, BESH, F 222483, BhdEoesn, £

17. i }Eﬁ=4_3+%_1 ............. 4%
:l ........................ Sﬁj\
18. fi%: Eﬁ=4\/§><\/§—3\/g><\/8_..253\
=16—12\/§. ............... 5.4y
19. ##: " 2d°#8a—4=0;
e DAPABAEL e 1§J\
JFR =6a" +3a—4a" +1 -+~ 29
=2a"+3a+1............ 34
=4+1
=S 549
20. WF#A: " BC/DE,
S SABC=/D. wvereeerens 14y
fEAABC MIAEDB ',
AB=ED,
ZLABC=/D,
BO=DB. +-vvvveereeseeenens 4.5y
S AABCLNAEDB (SAS) 5 %y
21. R X —x(x=1)=2(x - 34
x° — X e —2
X =2 e 4§j\
LR x = 2 2 BT FERR.
SRR = 2.5 40
2. i FA=2 X3 54
. il 43
x+2 (x+3)(x 3)
1
e S REREEESREEEEE RS 4 JAN
x+2 7
1 3
e = g, =P 64
N

23. IFRE EEAAEB FIADEC T,

ZAZZDy
{LAEB—LDEC,
AB_DC .................... 2§j\
NAEBL ADEC (AAS) 39
EB:EC ......................... 4§J\
F & BC 5,
G S BEF=2CEF. -+ +c-rvveenee 6 4y
24. R (1) 25 2T 24y
(2) ANiE.
(m+3)1-3)=-2,
S A=Bm3-3=-2.
S =B)mz1 N3
Sem=d.
G373+ (2-/3)
—(1+J_)+(2 NE))
.............................. 4§j\
om+ B H2 - BARRKET
1 E]/] “:F1§I§Q” ......... 6 éJ\
25. fik:
(1 %
5 i
4
B
O NFR. 3 4y
(2) LBEFEHFHEL LA EIXELE
AN e R S A, 5%



26. fi#: 27. fi#:

BN AR BT XA, /i (D) JFE=(" -2xp+y*) -4

SF.:[:/:]_E: \%pl]j:]‘()i;_sls) /1\4§ ........... léj\ =(x—y)2—4

WEER, B——="—". 34> =(x-y+2)(x-y=2).3 57
x+15 x (2) “a*—ab—ac+bc=0,

ﬁg/% X =60 oo 4§j\ . ( _b)_ ( _b)—()

ZoKlfy: x =60 R FR IR HAT & M. v T masTA=T:

............................................. 5 5 “. (a=b)a=e)=0.

s INESERIE AT 60 ANE. o 6 4 Soa-b=08a-c=0.
Soa=bia=c.

o ANABC R T T 4

(D Bf CD.

A RT R CP BIXIRR MRS D,

S ZACP=/DCP=a, CD=AC:

" AABC 551 — 40

S AB=AC=BC, \ABAC=.ACB=60°.

~.CD#BC, /BCD=60°+2a.

S S BDEC= L DBC=60C— (. -+ errrrnreeeeeennns 257\
(2) ZAEB ARAEZA, LAEB=60°. ---wweovveeveeee 44y
(3) f£ BE LYU— S F, ffi EF=AE, %% AF.

S NAFE ZEN = .

S AE=AF=EF, /EAF=60°.

S ZBAF=/CAE.

S ANABF2 NACE.

S BF=CE.

A RT R CP BIXIRR AN D,

.. AE=DE=EF.

"' BD=BF+EF+DE,

S BD=CE+2AE. 220, 7 57\

UEVEANME 5 HABUE S BRI AH RP IR 7

FAIERAL S s




	丰台初二数学答案_页面_1
	丰台初二数学答案_页面_2

